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QUESTION 1

Which of the following standards organizations is proposed by the CAPWAP protocol? 

A. FCC 

B. IETF 

C. CCC 

D. ETSI 

Correct Answer: B 

 

QUESTION 2

What are the WLAN operating bands (Select 2 Answers)? 

A. 2 GHz 

B. 5 GHz 

C. 5.4 GHz 

D. 2.4 GHz 

Correct Answer: BD 

 

QUESTION 3

In a large-scale wireless network deployment scenario, when the AC is configured as "Layer 3 Networking 

+

 Side-by-Side Mode + Direct Forwarding", where should the wireless user\\'s gateway be located? 

A. 

Convergence layer on the Layer 3 switch 

B. 

One-arm router on the 

C. 

AC on the 

D. 

AP 
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Correct Answer: A 

 

QUESTION 4

What are the prerequisites for users to implement Layer 3 roaming (Select 3 Answers)? 

A. The two APs of the user roaming switch must have the same SSID. 

B. Two APs for user roaming switch must have the same VLAN 

C. User roaming requires two AP signals to be covered with overlapping areas 

D. The SSID released by the two APs of the user roaming switch must have the same authentication method. 

Correct Answer: ACD 

 

QUESTION 5

What is the function of the AC in the wireless network (Select 3 Answers)? 

A. Centralized management AP 

B. Implement roaming function 

C. Send beacon frame 

D. Wireless intrusion detection 

Correct Answer: ABD 
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